
6121 6121.5 6122 6122.5 6123
cyclenum

1−

0.5−

0

0.5

1

al
ph

a1
3_

4e
X

1X
alpha13_4eX1X:cyclenum {run == 6388}

6121 6121.5 6122 6122.5 6123
cyclenum

1.5

2

2.5

3

3.5

al
ph

a4
6_

4e
Y

4a
Y

alpha46_4eY4aY:cyclenum {run == 6388}

6121 6121.5 6122 6122.5 6123
cyclenum

1.5−

1−

0.5−

0

0.5

de
lta

13
_1

2X
4e

X

delta13_12X4eX:cyclenum {run == 6388}

6121 6121.5 6122 6122.5 6123
cyclenum

0.8−

0.6−

0.4−

0.2−

0

0.2

0.4

0.6

0.8

1

1.2

1.4

de
lta

46
_1

2X
4e

Y

delta46_12X4eY:cyclenum {run == 6388}

6121 6121.5 6122 6122.5 6123
cyclenum

6386

6386.5

6387

6387.5

6388

6388.5

6389

6389.5

6390

ru
n

run:cyclenum {run == 6388}

6121 6121.5 6122 6122.5 6123
cyclenum

0

0.5

1

1.5

2

2.5

3

se
gm

en
t

segment:cyclenum {run == 6388}



6121 6121.5 6122 6122.5 6123
cyclenum

87−

86.5−

86−

85.5−

85−

us
l_

1X
usl_1X:cyclenum {run == 6388}

6121 6121.5 6122 6122.5 6123
cyclenum

0.8−

0.6−

0.4−

0.2−

0

0.2

0.4

0.6

0.8

1

1.2

1.4

us
l_

4a
Y

usl_4aY:cyclenum {run == 6388}

6121 6121.5 6122 6122.5 6123
cyclenum

61.5

62

62.5

63

63.5

us
l_

4e
X

usl_4eX:cyclenum {run == 6388}

6121 6121.5 6122 6122.5 6123
cyclenum

17

17.5

18

18.5

19

us
l_

4e
Y

usl_4eY:cyclenum {run == 6388}

6121 6121.5 6122 6122.5 6123
cyclenum

36−

35.5−

35−

34.5−

34−us
l_

12
X

usl_12X:cyclenum {run == 6388}

6121 6121.5 6122 6122.5 6123
cyclenum

6386

6386.5

6387

6387.5

6388

6388.5

6389

6389.5

6390

ru
n

run:cyclenum {run == 6388}



6121 6121.5 6122 6122.5 6123
cyclenum

128.5−

128−

127.5−

127−

126.5−

us
r_

1X

usr_1X:cyclenum {run == 6388}

6121 6121.5 6122 6122.5 6123
cyclenum

2

2.2

2.4

2.6

2.8

3

3.2

3.4

3.6

3.8

4

4.2

us
r_

4a
Y

usr_4aY:cyclenum {run == 6388}

6121 6121.5 6122 6122.5 6123
cyclenum

172

172.2

172.4

172.6

172.8

173

173.2

173.4

173.6

173.8

174

174.2

us
r_

4e
X

usr_4eX:cyclenum {run == 6388}

6121 6121.5 6122 6122.5 6123
cyclenum

12

12.5

13

13.5

14

us
r_

4e
Y

usr_4eY:cyclenum {run == 6388}

6121 6121.5 6122 6122.5 6123
cyclenum

38−

37.5−

37−

36.5−

36−

us
r_

12
X

usr_12X:cyclenum {run == 6388}

6121 6121.5 6122 6122.5 6123
cyclenum

6386

6386.5

6387

6387.5

6388

6388.5

6389

6389.5

6390

ru
n

run:cyclenum {run == 6388}



6121 6121.5 6122 6122.5 6123
cyclenum

16766.5

16767

16767.5

16768

16768.5

us
l_

co
il1

usl_coil1:cyclenum {run == 6388}

6121 6121.5 6122 6122.5 6123
cyclenum

3473.5

3474

3474.5

3475

3475.5

us
l_

co
il3

usl_coil3:cyclenum {run == 6388}

6121 6121.5 6122 6122.5 6123
cyclenum

3909

3909.5

3910

3910.5

3911

us
l_

co
il4

usl_coil4:cyclenum {run == 6388}

6121 6121.5 6122 6122.5 6123
cyclenum

1031−

1030.5−

1030−

1029.5−

1029−

us
l_

co
il6

usl_coil6:cyclenum {run == 6388}

6121 6121.5 6122 6122.5 6123
cyclenum

14261.6

14261.8

14262

14262.2

14262.4

14262.6

14262.8

14263

14263.2

14263.4

14263.6

14263.8

us
l_

co
il7

usl_coil7:cyclenum {run == 6388}

6121 6121.5 6122 6122.5 6123
cyclenum

6386

6386.5

6387

6387.5

6388

6388.5

6389

6389.5

6390

ru
n

run:cyclenum {run == 6388}



6121 6121.5 6122 6122.5 6123
cyclenum

16702.4−

16702.2−

16702−

16701.8−

16701.6−

16701.4−

16701.2−

16701−

16700.8−

16700.6−

16700.4−

16700.2−

us
r_

co
il1

usr_coil1:cyclenum {run == 6388}

6121 6121.5 6122 6122.5 6123
cyclenum

3216.4−

3216.2−

3216−

3215.8−

3215.6−

3215.4−

3215.2−

3215−

3214.8−

3214.6−

3214.4−

3214.2−

us
r_

co
il3

usr_coil3:cyclenum {run == 6388}

6121 6121.5 6122 6122.5 6123
cyclenum

3952.2

3952.4

3952.6

3952.8

3953

3953.2

3953.4

3953.6

3953.8

3954

3954.2

3954.4

us
r_

co
il4

usr_coil4:cyclenum {run == 6388}

6121 6121.5 6122 6122.5 6123
cyclenum

601.5−

601−

600.5−

600−

599.5−

us
r_

co
il6

usr_coil6:cyclenum {run == 6388}

6121 6121.5 6122 6122.5 6123
cyclenum

16460.6

16460.8

16461

16461.2

16461.4

16461.6

16461.8

16462

16462.2

16462.4

16462.6

16462.8

us
r_

co
il7

usr_coil7:cyclenum {run == 6388}

6121 6121.5 6122 6122.5 6123
cyclenum

6386

6386.5

6387

6387.5

6388

6388.5

6389

6389.5

6390

ru
n

run:cyclenum {run == 6388}



6121 6121.5 6122 6122.5 6123
cyclenum

441−

440.5−

440−

439.5−

439−1X
_c

oi
l1

1X_coil1:cyclenum {run == 6388}

6121 6121.5 6122 6122.5 6123
cyclenum

70.5−

70−

69.5−

69−

68.5−

1X
_c

oi
l3

1X_coil3:cyclenum {run == 6388}

6121 6121.5 6122 6122.5 6123
cyclenum

16.5

17

17.5

18

18.5

1X
_c

oi
l7

1X_coil7:cyclenum {run == 6388}

6121 6121.5 6122 6122.5 6123
cyclenum

472−

471.5−

471−

470.5−

470−

4e
X

_c
oi

l1

4eX_coil1:cyclenum {run == 6388}

6121 6121.5 6122 6122.5 6123
cyclenum

89−

88.5−

88−

87.5−

87−

4e
X

_c
oi

l3

4eX_coil3:cyclenum {run == 6388}

6121 6121.5 6122 6122.5 6123
cyclenum

17.2

17.4

17.6

17.8

18

18.2

18.4

18.6

18.8

19

19.2

19.4

4e
X

_c
oi

l7

4eX_coil7:cyclenum {run == 6388}



6121 6121.5 6122 6122.5 6123
cyclenum

173.6

173.8

174

174.2

174.4

174.6

174.8

175

175.2

175.4

175.6

175.8

4a
Y

_c
oi

l4

4aY_coil4:cyclenum {run == 6388}

6121 6121.5 6122 6122.5 6123
cyclenum

35.5

36

36.5

37

37.5

4a
Y

_c
oi

l6

4aY_coil6:cyclenum {run == 6388}

6121 6121.5 6122 6122.5 6123
cyclenum

11−

10.5−

10−

9.5−

9−

4a
Y

_c
oi

l7

4aY_coil7:cyclenum {run == 6388}

6121 6121.5 6122 6122.5 6123
cyclenum

183.5

184

184.5

185

185.5

4e
Y

_c
oi

l4

4eY_coil4:cyclenum {run == 6388}

6121 6121.5 6122 6122.5 6123
cyclenum

27−

26.5−

26−

25.5−

25−

4e
Y

_c
oi

l6

4eY_coil6:cyclenum {run == 6388}

6121 6121.5 6122 6122.5 6123
cyclenum

10−

9.5−

9−

8.5−

8−4e
Y

_c
oi

l7

4eY_coil7:cyclenum {run == 6388}



6121 6121.5 6122 6122.5 6123
cyclenum

236.5−

236−

235.5−

235−

234.5−12
X

_c
oi

l1

12X_coil1:cyclenum {run == 6388}

6121 6121.5 6122 6122.5 6123
cyclenum

83.5−

83−

82.5−

82−

81.5−

12
X

_c
oi

l3

12X_coil3:cyclenum {run == 6388}

6121 6121.5 6122 6122.5 6123
cyclenum

5.5−

5−

4.5−

4−

3.5−

12
X

_c
oi

l4

12X_coil4:cyclenum {run == 6388}

6121 6121.5 6122 6122.5 6123
cyclenum

6.2

6.4

6.6

6.8

7

7.2

7.4

7.6

7.8

8

8.2

8.4

12
X

_c
oi

l6

12X_coil6:cyclenum {run == 6388}

6121 6121.5 6122 6122.5 6123
cyclenum

424.8−

424.6−

424.4−

424.2−

424−

423.8−

423.6−

423.4−

423.2−

423−

422.8−

422.6−

12
X

_c
oi

l7

12X_coil7:cyclenum {run == 6388}

6121 6121.5 6122 6122.5 6123
cyclenum

6386

6386.5

6387

6387.5

6388

6388.5

6389

6389.5

6390

ru
n

run:cyclenum {run == 6388}
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